SBREERRR

Hydraulic Vane Pump ‘

®

DAIWER

Fixed Displacement Hi-Pressure Vane Pump

vQis
VQ25
VQ35
VQ45

ORDERING CODE -

Max Pressure: 245 kgf/cm?

Design Number

Suction Port Position
(Viewed from Shaft End)
A: Upward (normal)

B: Downward

R: On Right Hand

L: On Left Hand

Discharge Port Position
(Viewed from Shaft End)
A: Upward (normal)

B: Downward

R: On Right Hand

L: On Left Hand

Shaft Rotation

(Viewed from Shaft End)
R: Clockwise

L: Anti-Clockwise

Type of Mounting
L: Foot Mounting

F: Flange Mounting (normal)

Normal Displacement (c.c/rev)
VQ15:8,11,14,17,19, 23, 26, 31

VQ25: 18, 22, 26, 32, 38, 43, 47, 52, 60, 65, 75
VQ35: 60, 66, 76, 82,88, 94, 108, 116, 125
VQ45: 136, 156, 189, 216, 237

Series Number: 15, 25, 35, 45




SBREERRR

Hydraulic Vane Pump ‘

Fixed Displacement Hi-Pressure Vane Pump

®

DAIWER

—  PERFORMANCE CHART

|

VQ15, 25, 35, 45 Series
Performarnce chart

| Max Pressure: 245 kgf/om? |

Delivery Flow (¢/min Running Speed
at no-Igad pre(ssure) (rp?m)p Prgﬂsiﬁre Weight (kg)
Running Speed (rpm) )

Model 17000 1 1200 1500 1800 Max Min kgf/cm2 Foot Type [Flange Type
VQ15-06 6.2 7.4 9.3 11.2 1800 1200 210 12.5 10.5
VQ15-08 8.1 9.7 12.1 14.6 | 1800 950 210 12.5 10.5
vQi1s-11| 11.2 | 13.4 16.8 | 20.1 | 1800 950 | 245 12.5 10.5
vQl5-14| 143 | 17.1 215 | 25.7 | 1800 950 | 245 125 | 10.5

:‘-’ VQ15-17 17.1 20.5 25.6 30.7 1800 950 245 12.5 10.5
g VQ15-19 19.2 23.0 28.8 34.5 1800 950 245 12.5 10.5
vQ15-23| 23.3 27.9 34.9 41.9 | 1800 950 245 12.5 10.5
VQ15-26 | 26.1 31.3 39.1 46.9 1800 950 245 12.5 10.5
VQ15-31 31.1 37.3 46.6 — 1500 950 245 12.5 10.5
vQ25-18| 18.1 21.7 27.2 32.6 | 1800 950 245 19 14
VQ25-22| 22.1 26.5 33.2 39.8 | 1800 950 245 19 14
VQ25-26 | 26.2 31.4 39.3 47 .1 1800 950 245 19 14
vQ25-32 | 32.1 38.5 48.1 57.7 1800 950 245 19 14
vQ25-38| 38.2 45.8 57.3 68.7 | 1800 950 245 19 14
Qlvas-43| 43.2 51.8 64.8 77.7 | 1800 950 245 19 14
g VQ25-47 | 47.1 56.5 77.0 85.0 | 1800 950 245 19 14
VQ25-52 52.3 62.7 78.4 94.1 1800 950 245 19 14
VQ25-60| 60.2 72.7 90.3 | 108.3 | 1800 950 210 19 14
VQ25-65| 65.3 78.3 97.9 | 117.5 | 1800 950 210 19 14
vVQ25-75| 75.0 90.0 112.5 — 1500 950 175 19 14
vQ3s-60| 60.3 72.3 90.4 | 108.5 | 1800 900 210 42 34
VQ35-66| 66.4 79.6 99.6 | 119.5 | 1800 900 210 42 34
vQ35-76| 76.3 91.5 114.4 | 137.3 1800 900 210 42 34
VQ35-82 | 82.2 98.6 123.3 | 147.9 1800 900 210 42 34
g; vQ3s-88| 88.3 | 105.9 132.4 | 158.9 1800 900 210 42 34
g VQ35-94| 94.5 | 113.4 141.7 | 170.1 1800 900 210 42 34
vQ35-108| 108.2 | 129.8 162.3 | 194.4 1800 900 210 42 34
vQ3s-116] 116.1 | 139.3 174.1 | 208.9 1800 900 175 42 34
vQ35-125| 124.6 | 149.5 | 186.9 — 1500 900 175 42 34
VQ45-136| 136.8 | 164.0 | 204.0 | 246.0 1800 600 175 50 42
o VQ45-156) 156.2 | 188.0 | 234.0 | 280.0 | 1800 600 175 50 42
3 vQ45-189| 189.5 | 227.0 | 284.0 | 340.0 | 1800 600 175 50 42
>(vQ45-216| 216.0 | 260.0 | 324.0 — 1500 600 175 50 42
vVQ45-237| 237.0 | 285.0 | 355.0 — 1500 600 175 50 42




Hydraulic Vane Pump N

SBREERRR

Fixed Displacement Hi-Pressure Vane Pump DAIWER

| DIMENSIONAL DRAWING |

VQ15

185 2-911 HOLE

18 SPOTFACER
56.5 1 DEEP

DISCHARGE PORT 915
SUCTION PORT 928

J ) &
J

pop—

38.1

52.4
1
T
2
N\
4.76 301
N
=

& | 4 i 7 o | D

/ T W 50 56.5 IL 95

95 35
26.2 1 \ 4-M8X1.25P 725 725
- DEEP 15 180
'4-M10X1.5P—DEEP 17

Foot Type

%

15

56.5 28.5 53.5

45

$19.05%8 021
21.24 816

30

&
&

60

2-911 HOLE
18 SPOTFACER

116

| = )
#82.55-005
C,Pj
110

[

VQ25

232 4-913.5 HOLE
DISCHARGE PORT ¢25

s 83 87.5 921 SPOTFACER 1 DEEP
— 32 . M
SUCTION PORT 238 \ ‘F e

45
: i ]
EY§ £ ] ®
] } r ) + o~
o| - — o =]
© 0 -
& R I
@)&'_ N L_60 } 73 T b i
\\4-M10X1.5P-DEEP17

115 38 95 95
35.7 230
26.2

4-M12X1.75P-DEEP 19 9 Foot Type
S R 174
87.5 25 © 146
60.5 2 °F
H wn
8 ¢
s o~
50 ‘ ﬁ
) 4
s

2-¢13.5 HOLE
921 SPOTFACER 1 DEEP

(Ff
7
125




SBREERRR

Hydraulic Vane Pump ‘

DAIWER

Fixed Displacement Hi-Pressure Vane Pump

DIMENSIONAL DRAWING |
" 285 4-917.5 HOLE
DISCHARGE PORT 930 21 i 90 112 26 SPOTFACER 1 DEEP
SUCTION PORT ¢53.5 B == ¢
5 RN
S - :
°? _ 77]} i ~
'e) N N2 - 523 I =
o)) _— ¥ o~
N 4 0|
H 3
~ 4 | - - -
== % s i ot
I 1.76.2| B8 I |1as mf
40 ' ' 50 117.5 117.5
131 274
30.2 Foot Type
\ 4-M10X1.5P-DEEP19
285 =
90 112 o7 s
i v
' 75 ~ 8
r— A C T “| 0
> J | == 63 Sl ™
o 46 0
[} - o
5 | =
2 - - ] & 8
= E s -
T ~+3 D
L—J 9 2-817.5 HOLE
i 26 SPOTFACER 1 DEEP
VQ45 305 -
DISCHARGE PORT 838 4-917.5 HOLE
SUCTION PORT 975  4-M16X2.0PX19 DEEP g 1102 133 826 SPOTFACER 1 DEEP
\ = [ 1 [0}
E T 71, s | ET
h el o :
: ‘é ™ 14 o b3 ] N l‘ by g# Ve e ~
74 P s b § &
© i i 0
- (] R I ] /L : Q@
© - - - CeS— L r o
S ! I | \ | o~ e
' i N S b - r"q-tf
T T
e Y, 762 bs | 145 | f
! I 59 117.5 117.5
4-M12X1.75PX19 DEEP 131 274
-
61.9 357
Foot Type
305
110.2 133 215
\ 52 81 181
I *
[T ™ [T ™ ‘o
| i i ‘ 68 i
o = R 2-817.5 HOLES
3 826 SPOTFACER 1 DEEP
— 3
7o) = b
Lid ~
- o~
_ s
i3
13




dwngd aue/ ainssaid-H luswaoe|dsiq pexi4

o> 7 dwng auep ainelpAH

LEHEEIEHE




SBREERRR

Hydraulic Vane Pump ‘

Fixed Displacement Hi-Pressure Vane Pump

®

DAIWER

| PARTS LIST |

Model vVQ15 VQ25(SVQ25) [VQ35(SVQ35)| VQ45(SVQ45)
No.1 Retainer Ring R47 R52 R72 R85
No.2 Seal 22x47x8 30x52x11 35x72x12 50x85x10
No.3 Bearing 6204 zz 6205 zz 6207 zz 6209 zz
No.4 Shaft
No.5 Key
No.6 Housing
No.7 Cartridge Kit
No.8 O-Ring G85 G100 G135 G140
No.9 Cover
No.10 Cap-Screw| M10x1.5x85 | CERIES 00 | 1 6x2.0¢140 [ SveatSaD 51160
E?a]k]gui endioss | P36 P46 65.53.5 G80
%???"29 & Endless | 77 5x3.5 90.2x3.5 G115 G130

Back-Up Ring




Hyvdraulic Vane Pum ‘ O
SESMTEEAR yd au P

Fixed Displacement Hi-Pressure Double Vane Pump DAIWER

VQ215
vQ225
vQ315
vVQ325
VQ425

| ORDERING CODE K
Seres P1: Discharge Port | P2: Discharge Port| F: Shaft Rotation Discharge Port Position Suction Port Posiion [?;;Chgrge Pé)rt Position | Design
Nusrber cchev cchev Flange (view from Shatt End (P1) Shatt End Pump (view from Shaft End ( : ) Cover End Pump | Number
Shaft End Cover End Mounting (view from Shaft End) (view from Shaft End)
-60 -52
18,22,26,32 [18,22,26,32 A 02
VQ225|38, 43, 47,52 | 38, 43, 47, 52 A: Upward (normal)
60, 65,75 60, 65,75
B: Downward
62, gg, 76 ?7 8,] ;1,2134, -F -R A A R: Right Hand
4 19,23, :
vasis ?0'8 ]']Z 125126, 31 F: R: A: Upward A: Upward L: Left Hand
T d Flange | Clockwise (normal) (normal)
18,22,26,32|6,8,11,14 | Mounting| L: B: Downward | B: Downward
VQ215|38, 43, 47,52(17, 19, 23, Anti-Clockwise| R: Right Hand | R: Right Hand
60,65,75 (26,31 L: LiLeftHand | L:LeftHand | on Right Hand
Foot Upward 45°(normal)
60, 66,76 18, 22,26,32 Mountlng B: On nght Hand
VQ325|82,88,94  |38,43,47,52 Downward 45°
108,116, 125| 60, 65, 75 C: On Left Hand
Downward 45°
136, 156 18, 22,26,32 D: On Left Hand
VQ425(189, 216 38,43,47,52 Upward 45°
237 60, 65,75




SEREHESREAR

Hydraulic Vane Pump ‘ S

DAIWER

— DIMENSIONAL DRAWING |
DISCHARGE PORT P1 925 9 326
SC 112.5 80 89
SUCTION PORT 851 = - ~
% ES r )
— i 3 63 #
©0
" \r < - - _—
NV )
-
[P =
- 75P—-DEEP 19 26.2
s-w1201.75P-0EEP 19/ 42.9 U 4-913.5 HOLE 60 | 73
) \ 4-M10X1.5P-DEEP 17 | 621 SPOTFACER 115 38
£ 1 DEEP
DISCHARGE PORT P2 919
© Foot Type
N - yp
"\ 4-M8X1.25P DEEP 14
326 . 174
1125 80 285 61 77| o5 146
N
N
[ ! 1 g
L 30 J/ ' \]\

n 2]

SRR =anE 7 TN
< - © N, Vany n
] - - - g ZaaWy a
2 T I s A g \U U &

s L
E» 2-913.5 HOLE \[\ /]/
*rLs 621 SPOTFACER 1 DEEP T
12 . 358
DISCHARGE PORT 109 _ 109 89.5
P2 925 SUCTION PORT 963 [
R LI — W
H _I_\ T I 1 b
%AT“ . | L ,
9| & 2 T —+ X i3
o| * » 0 ) -
% IA'N) _<- B A“ '-'—) *, 4 g
|6 + B b R
f ]
| 13 4-913.5 HOLE 0| 173 L' 2o
4-m10x1.5p/ [26-2 50.8 l&j 21 SPOTFACER 115 38 95 95
1 P
DEEP 17 DISCHARGE PORT 4-M10X1.5P DEE 230
4-M12X1.75P-DEEP 19 P1 925 DEEP 17
Foot Type
358
109 109 285 61 8
| [ 55 5| o5
| HE:)
T T T T T 32 |4 !
H : : imm =N s &
o ~ w‘ iy
~ ~ ~ g
. ) [ I © ®
i S g
s
2-913.5 HOLES

925 SPOTFACE 1 DEPTH




SEREHESREAR

Hydraulic Vane Pump ‘ ©

Fixed Displacement Hi-Pressure Double Vane Pump

‘ DIMENSIONAL DRAWING |L
VQ315
DISCHARGE PORT P1 930 21 — 385 _— 4-917.5 HOLE
SUCTION_PORT 978.5 -2 ' 122, 11
& Tl;
DISCHARGE PORT o3 o l nj
P2 o9 | T H 0 ¥1: 1
S = i [
s G4 ‘
g amud =" -
(] A .| A ‘ k‘ — i/ © » *i* “__ L‘
e T _ 7o2] be [T hes
' 1175 | 1175
i 131 |50
22.2 274
4-MBX1.25P DEEP14 = 30.2
4—M10X1.5P-DEEP19 Foot Type
4-M16X1.75P DEEP19 E—
385 Bl e 213
120 120 113 Rl o
! 75 w0
s| ™
= 1 T 63
o] Hr 40 wl o
LR
3 — - - i | R g
- % _J,< s E
> / 2-917.5 HOLE
926 SPOTFACER 1 DEEP
VQ325 9 X 403 4-917.5 HOLE
DISCHARGE PORT P1 ¢30 2 139.5  115.5 112 $26 SPOTFACER 1 DEEP

SUCTION PORT 878.5 | =TT ]\ (0]
\ 1l ~ s § % ik
o <2 1
£ ] IR =y N X
0 & T & — =
b | =41 0
{1 DN 4] - .
K] T T A i
T T
e ¥ 1N 76.2| |ss 5 | |7
~ N 117.5 117.5
DISCHARGE PORT \ 619\ 30.2 \\_ 131 |50 =
P2 621 -
\4-M10x1.5P-DEEP 19
26.2
4-M10X1.5p T 4-M16X2.0P—DEEP 19 Foot Type
DEEP 17 X
<+
E N
n
403
1395 1155 112
‘ ‘ 75 § 213
63 0| F
| | 5B
i = T 46 ) ]
I

90

183

0127805

o166

5 SHEENR
' ‘é’ _l 2-817.5 HOLES

826 SPOTFACER 1 DEEP —

=




H ®
N Hydraulic Vane Pump ‘

Fixed Displacement Hi-Pressure Double Vane Pump DAIWER

e

=

{ DIMENSIONAL DRAWING |

DISCHARGE PORT P1 038 ., T 425 4-917.5 HOLE
SUCTION PORT #88.9 \ I 136 119.4 133 326 SPOTFACER 1 DEEP
g VA g ‘Dgg E '
B o 9
I 27
N % , .
'4’\ =
N = -
. — SIE
. 4 i L . l..
5P B\© A B 30T
A 4-M12X1.75P ] 145 | ¥
) DEEP 20 >4
- 35.7
26.2 P2 $24.8 | 274
DISCHARGE PORT 4-M16X2.0P—DEEP 19
Foot Type
348 e
139 _119.4 52 81 ol e 213
- L]
68 IS
| — L g g
< ! ! BE
i ‘g’ ‘ , 50 o w0
N 1 — o
2 § <l &
) - N o
® N - r — ©
— s =
‘é‘ l 2-917.5 HOLES
< o 3 926 SPOTFACER 1 DEEP




dwngd auep 8|gnoq ainssald-1H uswaoe|dsiq pexi4

. EHHEIHEEE
N 7 dwnd auep ainespAy




e

=

SMEERAR

Hydraulic Vane Pump ‘

Fixed Displacement Hi-Pressure Double Vane Pump

DAIWER

| DOUBLE PUMP PARTS LIST |

A s ool st o e
VQ215 | 30x52x11{6205z2z P46 90.2x3.5 [ G100 G85 71.5x3.5 P36
VQ225 | 30x52x11{6205z2z P46 90.2x3.5 [G100| G100 90.2x3.5 P46
VQ315 | 35x72x12|6207zz] 65.5x3.5 G115 G135 G85 71.5x3.5 P36
VQ325 |35x72x52|6207zz] 65.5x3.5 G115 G135 G100 90.2x3.5 P46
VQ425 |50x85x10[6209zzf  G80 G130 G140 G100 90.2x3.5 P46
VQ215| 30x52x11( 62052z P46 90.2x3.5 | G100 G85 71.5x3.5 P36
SVQ425|50x85x10(6209zzf  G8O G130 |G140f G100 90.2x3.5 P46
VQ435| 50x85x10(6209zzf  G80 G130 G140| G135 G115 65.5x3.5




Hydraulic Vane Pump ‘ ®

SBREERRR

Fixed Displacement Hi-Pressure Vane Pump DAIWER

i TYPICAL PERFORMANCE CHARACTERISTICSjI

vQ15-8 vQ15-11
1 22 5 vQi15-19
2 H F—
o ~ o o 2 FE T 18
“-: 14 ~%075,) w 20 ~—_ IBCo,p 530 E — Orpm,
313 318 —— 5 . F T 1
3 ] 3 ~ 325 F - = 900rp
S - - 4
© 12 © 16 =l 2001, O, ET—. !
£ ~ 7 £ ~ 20 200,
£ r <>, S T £ F~r~- o Nl
N m S4 ESE =~ 1900,
10 [~ 12 =200, g T
< —~— | 10
12, ~—
9 20055 10
. 8 1
8 g 0 16
, 8 8 L1 -
o ~ AT
1, & 1 & Co=1=48 8
= 4z > 2 T A" i o
Af/ £ g o - 34 =
=7 73 2T 23 & 1, £
<% 2 £
/ .- A 0 £ 0 35 70 105 140 175 210 245
0 35 70 105 140 175 910 0 35 70 1f05 140 175 910 Pressure kgl/cm?
Pressure kgf/cm? Pressure kg'/cm?
vQ15-14 vQi15-17 vQ15-23
2 26 2 30 — 245
E T~ u_c_’ F \\ o =
5 24 ~_ /8 528 = '&"Prn S40E ~— 80
&t ~{0%n 5t ~ 8. F —=Ypm
= 22 2 26 5 -
(o] o _—
2 | \\ c L \\\ 2 % = e 7500 .
€ 20 = € 24 1500, € E ~
> B . 1 00 > I Pm > :\\- 10, 7
18 - 2 25 F {29075
16 - [ 20 F=~b 20 F——=F— 1009
- I~~~ 4720 - S 1 =
14 <1 o 18 2 g 15 =120
12 L S dtooh, ™ 16 =& ™ 16 =
- ~.Pm | ~—_| 10 L~ 3 2
~ ~ \0 om ju z
10 I 14 B 16 ¥ = J12 5
~.] T L < —~
14 214 Al 45 §
] ] e E~
12 / 12 |2 14 3
g g =~ ] £
10 - 10 2T = 0
| -] L] 0 35 70 105 140 175 210 245
pa!
T 8 —4 8 _ Pressure kgf/cm?
/ . 6 2 A A1 6 £
e P g 1 bl
-1 -7 7 < _ 1=
~ 4% V. 42
:'//// T 2 (?. :/’ T " 8
~7 13 d 145
i -V o &
0 35 70 105 140 175210 245 0 35 70 105 140 175210 245
Pressure kgf/cm? Pressure kgf/cm?




Hydraulic Vane Pump ‘ ®

SBREERRR

Fixed Displacement Hi-Pressure Vane Pump DAIWER

| TYPICAL PERFORMANCE CHARACTERISTICS |

vVQ15-26 vQ15-31
g 50 r g 50
T [oR
- ~~— - \
-— [ \ ]8 .5 N \
é‘ 0 ~1.%00pm| | % 50 730%\,
o F T~ R s ™ 2 _\\ I~
E =~ \'\ogfp"’ E - ) \]500;».
I 30 {720 I 40 F 2]
o ~—rom, L~ ™~
_‘"“\\ 10 ~\\ [ \~__ 7
20 F T~ 2o 30 F B ST
+~ N ~ ~L %0 \\
4 25 N ~Zpm
<
o ~
P 20 20 > 30
/;ﬁ- 15 é A A%
- P L ”
2 10 g P R 20
g
P B<=e 15 @ L1- 115
- - .1 L
// 0 =2 /// -1 10
Q -
0 35 70 105140 175 210 245 € /’»—C 1 s
Pressure kgf/cm? %’
=
0

0 35 70 105 140 175 210 245
Pressure kgf/cm?

z VQ25-18 = vVQ25-22
2 40 3 45
(e o
s B b= ™~
% 30 14800, % 35 B 00rpm
o] B o T~
£ ~——| 7150, T £ | T~} _7500, I~
£ = L Orgm £ - m
> ~ 1—\‘\ - > ™~ |-
200, )
20 = —2q 25 <. 200,
=~ 2000, - <—_| |~ ,EF’"\
L 20 ) .
\.\_~\\~ \_~\p7,\ ~—
10 15 SN
- 25
20 20
L5 T L1153
/4/ o2 %
b - sl
10 O = 10 ©
/ - L~ | —
et s 8 22| s 8
%;—_,/ 15 a %// 5 a
r— S
P 0o 3 == o &
0 35 70 105 140 175 210 245 £ 0 35 70 105 140 175 210 245  —
Pressure kgf/cm? Pressure kg'/cm?
2 vQ15-26 2 VQ25-32
S 50 £ 40
T [ [
L N -—
= -~ 5 o
FR e SRS P
3 u — 3 50 1809,
O 40F ] O 50| o
£ LT~ 1500, I~ E -~ ~|
E | “Rep SN e B
N 30 ™ 1200, |~ 40 ~.2%0,
=40 4
- '\ - \\
[T~ 10p, I~ T~ :\\\_.
L it S sk T~ Igocrpm
20 <I_ N <L oo <
125 r ~<%m
- \\\
20 20 30
L1.,. 3
L A5 & A A
= £ 20
r—(":;// -50‘;3 - T s €
— / =
ér‘/; 5 /’__— 4~ 5
0 a o 0 2
0 35 70 105 140 175 210 245 = M’-'C 1 &
Pressure kgf/cm? %/ 15 5
a
Z 0o £

0 35 70 105 140 175 210 245
Pressure kgf/cm?




Hydraulic Vane Pump ‘ ®

SBREERRR

Fixed Displacement Hi-Pressure Vane Pump DAIWER

[ [
| TYPICAL PERFORMANCE CHARACTERISTICS |
= VQ25-38 H VQ25-43
2 70 i 80 F
b 60 2 O et L1 5 70 E T 1800,
3 s, & ] T~
5 50 F ] 3 0E s e
2 40 F—T1T—1.. 1200, £ 5o E —~—
€ E—+ <L 70;10?'\ E E\\ [ T~—dT200,,)
£ E 4 E
S 30 2 = 40 =~J oo,
4 40 T 40 3T
3 4 f s
=30 o <1 30 5
o 20 3 A= 20 3
E - 3
A/:'_-’//: 10 9'_. /4’ T+ | 3 10 9‘_
1" 5 3 /--/. 3 a
= i, % ZF] 3, £
0 35 70 105 140 175 210 245 0 35 70 105 140 175 210 245
Pressure kgf/cm? Pressure kgf/cm?
5 VQ25-52 8 VvQ25-60
2 100 L o=
ER 3 100 1800
a | ~_ 18 0r, - | I~ Pm
=1 [~—Pm 3
3 8 o %
»\\ c - I~ -~
£ 70 S € 80f 150075
3 ~ B ~
S 60 ] = 70 -
50 =~ \Q?_Orp,, 60 B T~ 7200,
- .\\~ \’O Orp,,\ B T ~+ mm\\'
40 — =~ 2UPm
~
50 == 50
A 40 . /40 .
L1 4 B L-1 3
/ ] = 30 g ’/1//4 30 g
— q0 2 /// 20 2
-+ . [} -4 (e}
~ - o & (X~ o &
%’ ] 3 A 1 3
o g2 o g
0 35 70 105 140 175210 245  — 0 35 70 105 140 175210 245  —
Pressure kgf/cm? Pressure kgf/cm?
S VQ25-65
L 120F
F~
5 EOT
3 MoE 180057
3 E
100 F
£ E T~ . Jisool
g 9 F
S _E [~
80 F -
E =12
70 E 00;,,
E~ T~
60 F—= 10085
3 <
E ~J4
50 — 60
A 50
1 =
A4 2
1 = 30 a;’
A -
el J 20 £
L E
g 310 3
il i, =
0 35 70 105 140 175 210 245
Pressure kgf/cm?




Hydraulic Vane Pump ‘ ®

SBREERRR

Fixed Displacement Hi-Pressure Vane Pump DAIWER

VQ35-76 VQ35-82
E3
5 140 3 1501
Py 180015 L[ 18001515
5 e~ Pm I
3 1 s 3 “r .
2 g
S 120 ] S 130
O | — o - \.\
- 15, — 15
£ 110 < —1 %% £ 120 ~ < “Aem
£ [ —F £ 3 ~L
< 100 . S 110
L =~ | = -
90 — 200 100 = —
" [ 1—2%m o T 1200,
| — - | ™=~
--\ -~ \\
70 80 . ~1]
B N ™~
60 1100075 = 70
T~ ~+ o
= 60 60
= 50 ﬁ 50
L //; < LT .. -] e
T 30 5 L — 30
- AT E 2 A .17 g 2
— 20 s T 20 @
/‘:// 1 5 f_,// - b 5
~ 10 & = 10 @
=] 1 = Z7 1 £
0 0
0 20 40 60 80 100 120 140 160 180 210 0 20 40 60 80 100 120 140 160 180 210
Pressure kgf/cm7 Pressure kgf/cm2
VQ35-88 VQ35-88
160 ==
2 L T T—T——L 1800rpm| g eor
L 140 = ra —
R e = s T
2 120 —500rp g o - - L
= — L —— - 00rpm
O 100 7700 O 120 — =
= 200om £ -
£ 8 = 1110007 E 100 ——== S —
> ~ =1 > ——L -~ —1]
] 80 = ——1+900rprr 80
170 60 =>A 70
]
- 60 1 s
T J4°%° 50
- // 0 z | 40
. L —7 _
/’; 3 0 £ AL -1, -
L 1T 1, & 1A 1 5
¢ ] S e 120 %
1= o = L 0 <
1 =] = =]
o o o 2
0 20 40 60 80 100 120 140 160 180 210 £ 0 20 40 60 80 100 120 140 160 180 210 £
2
Pressure kg'/cm Pressure kgf/cmZ
vVQ35-116 VQ35-125
220 2 240
5 5 o
L 200 ~— Ta0h, L 22 = ”
=1 I rpm)| H — 0,
2 o = 2 200 — i
=1 | ——1 S - ~
O 160 = 1501 O 180 —
k= 7 \\'im c M~ J — 150 om
£ 140 3 £ 160 = -
S I S 41
120 2005 140 T T 2%
- — .. B )
100 =t o = 120 S =
T 20em | 100 CT— - [%Cpm 120
— 1] ~—
>
q 100 100
— 1
80 80 =
Pl é L] r //’ E‘g,
— o = > - = 0
-1 -1 - 4
A AT, 3 i g o Lt w0 3
L .- T A g [ | AT 1 o
L /-:’// 20 5 %;A/’ 0 =
== o £ T 1, &
0 20 40 0 80 100 120 140 160 180 210 0 20 40 60 80 100 120 140 160 180 210
2
Pressure kg'/cm Pressure kgf/cm?




SBREERRR

Hydraulic Vane Pump ‘

Fixed Displacement Hi-Pressure Vane Pump

DAIWER

¢/min Output Flow

¢/min Output Flow

¢/min Output Flow

280
260
240
220
200
180
160
140
120
100

340
320
300
280
260
240
220
200
180
160

440
420
400
380
360
340
320
300
280
260
240
220
200

[ TYPICAL PERFORMANCE CHARACTERISTICS |

VQ45-136
N ]8001me
N [
u + vso(I\ om
[— __)ZOOA
== ~F— - [_T000rom 100
= —— 90
80
70
1 40
- 50
P < 40
s\~ 2
g =
A 20
= 10
=
0
o 35 70 105 140 175
Pressure kgf/cm?
VQ45-189
- 1800r5m,
- _\‘_\
C 1500,
=7 = — T 130
o 120
12000 10
e e X 100
[ 10007pm, / 90
- T - T
80
~ 4 70
— —| ¢
AP 50
/// P ;g
P A 20
V2 10
7z o
o 3 70 105 140 175
Pressure kgf/cm?
VQ45-237
F 180001
u 140
J 4130
= T500pm
— Ll S, VA {120
u L 1o
u 1200rpm| ,° 7 100
= =}y 90
7T /"" 80
——1000rpm— - <1 70
I Y A
— 60
17 - < 50
’/// A 40
Y/ St 30
WGP
A 20
H 10
0
0o 35 70 105 140 175

Pressure kgf/cm?

300
280
3
3 260
L 240
oy
5 220
o
5 200
O g
£ 60
£
= 140
120
_
3
=
<
=
)
8
[+ %
po
=3
a
£
360
340
2
3 320
L 300
S 280
g
S 260
O 20
£ 20
£
I 200
180
_
2
kS
=
=
)
8
a
-
=]
o
£
_
2
<
Nt
)
2
o
o
=
3
o
£

Pressure kgf/cm?

VQ45-156
u 1800rp
r I
§ 15001,
[= <1200 110
——1—___000pm —F=== 100
1= 90
// 80
— 70
A
/ -
G 50
b - 40
V - -
A 30
=i 20
z
10
~ 0
0 35 70 105 140 175
Pressure kgf/cm?
VQ45-216
N ———1180075m
u 140
b 1500557 130
— 120
L // 110
=00 100
F i e '_7' = 5
| 1000rpm 80
A ]
VA = 70
1- 60
b
/ A 50
N7 40
< 30
Y/ S
% 20
7 10
0
35 70 105 140 175

Input Power (kw)

Input Power (kw)




